MATEMATICAS ACADEMICAS 42 ESO

ECUACIONES
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RESOLVER LAS SIGUIENTES ECUACIONES EXPONENCIALES:
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(Soluc: x=3,5237)

(Soluc: x=-1,7549)

(Soluc: x=5,2479)
(Soluc: x=1)
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(Soluc: 7 soluc.)

(Soluc: x=2)

(Soluc: x=4,4055)
(Soluc: x=4)
(Soluc: x=3)
(Soluc: x=12,0949)
(Soluc: 7 soluc.)

(Soluc: x=1)

(Soluc: x=-3,2958)

(Soluc: x4=2, x2=3)

(Soluc: x=2)

(Soluc: F soluc.)

(Sol: x=2, x=log 3fog 2)
(Soluc: x=1)

(Soluc: x4=0, x2=1)
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(Soluc: x=1)
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(Soluc: x=1)

(Soluc: x=0,8301)

1 (Soluc: x=-2)

(Soluc: x1=0, xz=In2; x3=In3)

(Soluc: x=3)

(Soluc: 7 soluc.)

(Sol: xy=2, x2=3)

(Soluc: x=1)

(Sol: xy=1, x2=3)

(Soluc: x=-7,8380)

(Soluc: xy=1, xz=2)

(Soluc: x=5)

(Soluc: x=11,1452)

(Soluc: x=15,38)

(Soluc: x=42)

(Soluc: x=3)

(Soluc: x1=0, xz=1)

(Soluc: x4=-1, xz=2)

(Soluc: x=1)

(Soluc: x=2,

(Soluc: x=0)

x=log 2/log 3)

(Soluc: F soluc.)

(Soluc: x=-2)

(Soluc: x=3)

(Soluc: x=In
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